ID: 1
Geometry Name

Assignment Date Period

Solve for x. Assume that lines which appear to be tangent are tangent.

[

3x+1
A) 0 B) 6
C) 8 D) 4

&\

2X+9

p

3) 4)

(l 9.+ 2x

N4

A) 0 B) 4

A) 9 B) 4 ) 11 D) 7

C) 5 D) 3

5) 6)
2x—12 4 3

A) 4 B) 1

C) 12 D) 2 A) 12 B) 10
C) 5 D) 6

2 gegss path-wsorlsheeh ory

math-worksheet.org



7)

X+5
2x—4
A) 9 B) 3
C) 7 D) 1
9
3x-2
X+ 14
A) 2 B) 1
C) 8 D) 12
11)
5%
6x—10
A) 1 B) 4
C) 5 D) 10

- gsgsgsnath-wserbsheeh.oryg

8)
9

15

A) 8 B) 10

C) 1 D) 4
10)

A) 7 B) 12

C) 9 D) 5
12)

11
5
A) 0 B) 9.6
C) 6 D) 11

math-worksheet.org



13)

2X —

X+4

N

A) 5 B) 12
C) 9 D) 1
15)
2
4
A) 3 B) 8
C) 12 D) 9
17)
5
10
A) 10 B) 0
C) 7.5 D) 6

827 gegsvs math-visrksheeh.ory

14)

A) 10.5
C) 9

16)

A) 5.6
C) 11

18)

Sx+7

A) 8
C) 4

14

B) 1
D) 2

B) 3
D) 9

6X

B) 0
D) 7

math-worksheet.org



19) 20)

<Y

2X+4
A 1 B) 3
C) 6 D) 4
A) 0 B) 7
C) 12 D) 2
21) 22)
6X+5
8x -5
14x - 1
1+ 13x
A) 2 B) 9 A) 5 B) 10
C) 7 D) 10 C) 11 D) 6
23) 24)
11x-3
13.3 3x-10
9X+5
1+ 2x
A) 11 B) 12
A) 9 B) 4 €)1 D) 2
C) 3 D) 10

2 gegss path-wsorlsheeh ory

math-worksheet.org



Answers to Assignment (ID: 1)

1) D 2) C 3) B 4 A
5) C 6) D 7) A 8) A
9) C 10) C 11) D 12) B
13) C 14) A 15) A 16) A
17) C 18) D 19) C 20) B
21) A 22) A 23) B 24) A

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 2
Geometry Name

Assignment Date Period

Solve for x. Assume that lines which appear to be tangent are tangent.

1) 2)
9
15
4
8
A) 4 B) 5
C) 6 D) 2
A) 7 B) 0
C) 8 D) 5
3) 4)
33x-1
32x
8
g A) 11 B) 4
A) 12 B) 6 2 D) 12
C) 3 D) 2
5) 6)
6
12
10x +2 A) 10 B) 5
Hx C) 9 D) 7
A) 2 B) 6
C) 4 D) 1

2 gegss path-wsorlsheeh ory

math-worksheet.org



7)

44X+ 6
3x+ 16
A) 10 B) 4
C) 11 D) 2
9
2x—18
X—6
A) 10 B) 4
C) 7 D) 12
11)
6
3
A) 4.5 B) 10
C) 6 D) 12

827 gegsvs math-visrksheeh.ory

8)
2
4
A) 9 B) 10
C) 1 D) 3
10)
5
11
A) 5 B) 7
C) 9 D) 9.6
12)
X—-35
2x—13
A) 10 B) 1
C) 8 D) 6

math-worksheet.org



13) 14)

10
16
2x -2
X+9

A) 10 B) 6
C) 7.8 D) 8
A) 0 B) 5
C) 11 D) 10
15) 16)
@
- S
X+5 2xX—1 ,
TX+3
A) 5 B) 12 A) 8 B) 3
C) 10 D) 6 C) 9 D) 5
17) 18)
10x -2
2Xx -3
8x+ 8
A) 5 B) 7
C) ; D) . X+35
A) 10 B) 1
C) 4 D) 8

82T gegsus math-worksheet.ory
. math-worksheet.org



19)

10x -3
8x+7
A) 0 B) 3
C) 11 D) 5
21)
2x+ 14
X+ 14
A) 2 B) 0
C) 12 D) 8
23)
43x -1
42x
A) 0 B) 1
C) 12 D) 7

2 gegss path-wsorlsheeh ory

20)
42x -1
40x + 1
A) 1 B) 10
C) 7 D) 11
22)
4x -3
2x+3 "4
A) 3 B) 2
C) 6 D) 9
24)
4x -5
3x+5
A) 11 B) 2
C) 3 D) 10

math-worksheet.org



Answers to Assignment (ID: 2)

1) C 2) C 3) A 4) C
5) A 6) C 7) A 8) D
9) D 10) D 11) A 12) C
13) C 14) C 15) D 16) B
17) A 18) D 19) D 20) A
21) B 22) A 23) B 24) D

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 3
Geometry Name

Assignment Date Period

Solve for x. Assume that lines which appear to be tangent are tangent.

1) 2)

A) 8 B) 6
A) 12 B) 0 C)3 D)0
C) 4 D) 6

3)

X+25

2x+25 A) 9.6 B) 4
A) 0 B) 1 C) 1 D) 10
C) 9 D) 12

6)
8
16

A) 7.5 B) 1 A) 10 B) 1
C) 4 D) 10 C) 12 D) 9

2 gegss path-wsorlsheeh ory

math-worksheet.org



7)

S5x+11
6X+5

A) 4 B) 5
C) 6 D) 3
9)
7x—1
6X +2
A) 0 B) 11
C) 6 D) 3
11)
8x -2
TX+1
A) 3 B) 1
C) 10 D) 8
13)
“'iif"' X+ 13
2x+13
A) 6 B) 0
Q) 11 D) 4

827 gegsvs math-visrksheeh.ory

8)
2X + 35 35+x
A) 3 B) 4
C) 5 D) 0
10)

A) 11 B) 2
C) 6 D) 9
12)
34x
33x+1
A) 1 B) 0
C) 7 D) 11

math-worksheet.org



14)

A) 4 B) 12
C) 3 D) 7
16)
X+2
2x =17
A) 4 B) 9
C) 11 D) 12
18)
+2x
4x -4
A) 6 B) 0
C) 9 D) 4

827 gegsvs math-visrksheeh.ory

15)
4x
3x+ 10
A) 9 B) 2
C) 10 D) 12
17)
l‘ 3x -8
‘2x+2
A) 3 B) 1
C) 0 D) 10
19)
X+ 10 '
' 3x—-2
A) 7 B) 6
C) 12 D) 4

math-worksheet.org



20)

A) 12 B) 0
C) 1 D) 3
22)
16.2
3x+7
5x—7
A) 5 B) 7
C) 3 D) 11
24)
X+5
=7+ 2X
A) 12 B) 11
C) 6 D) 9

- gsgsgsnath-wserbsheeh.oryg

21)
3x -2
2X+2
A) 4 B) 1
C) 12 D) 11
23)
4x - 10 ‘
2x+12 \
A) 8 B) 0
C) 7 D) 11

math-worksheet.org



Answers to Assignment (ID: 3)

1) D 2) A 3) A 4 A
5) A 6) C 7) C 8) D
9) D 10) D 11) A 12) A
13) B 14) C 15) C 16) B
17) D 18) A 19) B 20) D
21) A 22) B 23) D 24) A

2 gegss path-wsorlsheeh ory

math-worksheet.org



Geometry Name

ID: 4

Assignment Date

Period

Solve for x. Assume that lines which appear to be tangent are tangent.

1) 2)
16 8
A) 4 B) 0
C) 10 D) 9
A) 0 B) 9
C) 1 D) 12
3) 4)
IX + 4
16.8
X+4 2X—6
A) 7 B) 5
C) 2 D) 3
A) 10 B) 2
C) 11 D) 3

A) 2 B) 11
C) 8 D) 5

2x—-16

11x-2

math-worksheet.org



7)

X+3

2x — 8

A) 3 B) 8

C) 11 D) 10
9)

X+4
2x -8

A) 12 B) 8

C) 6 D) 4
11)

5
10
A) 7.5 B) 4
C) 10 D) 6

- gsgsgsnath-wserbsheeh.oryg

8)
14x+3
A) 0 B) 2
C) 5 D) 3
10)
2x— 14
X=2
A) 12 B) 11
C) 1 D) 2
12)
4+
A) 4 B) 3
C) 11 D) 12

16x -3

math-worksheet.org



13)
4+ 8x

-2+ 10x

ﬂ

A) 7 B) 3
C) 12 D) 8
15)
12
6
A) 12 B) 9
C) s D) 1
17)

12x -1

e

11x
A) 5 B) 1
C) 7 D) 9

- gsgsgsnath-wserbsheeh.oryg

14)
2x-10
X+ 1
A) 3 B) 11
C) 5 D) 9
16)
3x+9
2 +4x
A) 9 B) 8
C) 7 D) 2
18)
5
11
A) 9.6 B) 5
C) 6 D) 10

math-worksheet.org



19)

2X+5
X+5
A) 3 B) 0
C) 5 D) 6
21)
10 X R
16 X
A) 7.8 B) 10
C) 8 D) 1
23)

10x

11x-5

'i

A) 5 B) 7
C) 9 D) 10

827 gegsvs math-visrksheeh.ory

20)
6x—1
4x+9
A) 5 B) 7
C) 4 D) 10
22)
10x — 4
\\‘ 8x +4
A) 10 B) 0
C) 2 D) 4
24)
2x—-19
X—8
A) 12 B) 11
C) 3 D) 1

math-worksheet.org



Answers to Assignment (ID: 4)

1) D 2) D 3) A 4) D
%) ¢ 6) C 7)C 8) D
9 A 10) A 11) A 12) A
13) B 14) B 15) B 16) C
17) B 18) A 19) B 20) A
21) A 22) D 23) A 24) B

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 5
Geometry Name

Assignment Date Period

Solve for x. Assume that lines which appear to be tangent are tangent.

1) 2)
16
8
3x+5
A) 0 B) 12 2x + 14
C) 11 D) 2 A) 4 B) 1
C) 3 D) 9
3) 4)
X+ 6
2Xx -3
6
12
A) 9 B) 4 A) 12 B) 9
C) 0 D) 5 C) 10 D) 3
5) 6)

A A
N

A) 10 B) 7.8 A) 0 B) 6
C) 8 D) 2 C) 10 D) 1

2 gegss path-wsorlsheeh ory

math-worksheet.org



7)

25x -1

LD

1+23x
A) 7 B) 11
C) 0 D) 1

9)

(=

A) 11 B) 9
C) 3 D) 6
11)
14
7
A) 4 B) 11
C) 3 D) 10.5
13)

2x+ 11

X+ 11

(&

A) 0 B) 9
C) s D) 11

827 gegsvs math-visrksheeh.ory

8)

11

A) 5 B) 9.6
C) 10 D) 8
10)
2X -6
X+3
A) 7 B) 12
C) 4 D) 9
12)

A) 6 B) 9
C) 10 D) 0
14)
25.5

;

X -7 6x + 1
A) 8 B) 3
C) 2 D) 12

math-worksheet.org



15)

A) 8
C) 3

17)

15
B) 7
D) 12

TX+4

\J

A) 1 B) 7
C) 2 D) 6
19)
17 + 2x
3x+8
19.4
A) 3 B) 9
C) 7 D) 5
21)
3x+1
4x -1
A) 6 B) 9
C) 4 D) 2

- gsgsgsnath-wserbsheeh.oryg

16)
ax -4
3X+1'
A) 1 B) 7
C) 0 D) 5
18)
4
2
A) 4 B) 11
C) 3 D) 0
20) 11x—-2
10x+2
A) 3 B) 1
C) 4 D) 9

math-worksheet.org



22) 23)

X+ 15
2X+5
2X+3
X+3

A) 10 B) 3
C) 11 D) 0

A) 7 B) 10

C) 5 D) 8

24)
11.9
X+ 25 25+ 2x
A) 3 B) 0
C) 12 D) 2

2 gegss path-wsorlsheeh ory

math-worksheet.org



Answers to Assignment (ID: 5)

1) B 2) D 3) A 4) B
5) B 6) A 7) D 8) B
9) D 10) D 11) D 12) B
13) A 14) A 15) A 16) D
17) D 18) C 19) B 20) C
21) D 22) B 23) D 24) B

2 gegss path-wsorlsheeh ory

math-worksheet.org



Geometry

Assignment

Name

ID: 6

Date

Solve for x. Assume that lines which appear to be tangent are tangent.

1)
8
16
A) 12 B) 1
C) 0 D) 10
3)
S5x—4
3x+ 16
A) 4 B) 10
C) 1 D) 7
5)
"2X3
X+ 1
A) 7 B) 4
C) 2 D) 6

2 gegss path-wsorlsheeh ory

2)
9
5
A) 9 B) 5.6
C) 4 D) 8
4)
-7+ 2x
X+3
A) 4 B) 10
C) 1 D) 5

A) 9
C) 2

B) 10
D) 7

math-worksheet.org

Period



A) 5 B) 11

C) 2 D) 3
9)

2X + 40
X+ 40

A) 3 B) 0

C) 12 D) 5
11)

A) 11 B) 7
C) 1 D) 6
13)
3x-2
2+ 2X
A) 8 B) 4

C) 2 D) 11

2 gegss path-wsorlsheeh ory

8)

12x -2
@

A) 11 B) 2
C) 0 D) 6
10)
5
1j&iii§ff\.::::::>
A) 7.5 B) 1
C) 7 D) 0
12)
18x—1
<::::::X£::::::>/Z7X
A) 7 B) 3
C) 1 D) 12
14)
4x + 14
6x—2
A) 12 B) 3
C) 8 D) 6

math-worksheet.org



15)

4x -2
21
2x + 14

A) 11 B) 8
C) 12 D) 9
17)

@

A) 4 B) 3
C) 1 D) 2
19)
@3“9
5x—17
A) 8 B) 0
C) 11 D) 6

vsgsgs . mabh-werksheeb.org

16)
14x
15x -2
A) 3 B) 9
C) 2 D) 10
18)
X+2
2X -5
A) 4 B) 7
C) 3 D) 0
20)
15
9
A) 3 B) 9
C) 8 D) 6

math-worksheet.org



21) 22)

X +4 14
]
1ox+ 1 A) 10.5 B) 4
A) 3 B) 1 C) 10 D) 0
C) 2 D) 11
23) 24)
X+7
103
33
2X+7
2X+5
A) 0 B) 1
3x-2 C) 12 D) 3
A) 0 B) 6
C) 7 D) 10

2 gegss path-wsorlsheeh ory

math-worksheet.org



Answers to Assignment (ID: 6)

1) A 2) B 3) B 4) B
5) B 6) A 7) D 8) B
9) B 10) A 11) D 12) C
13) B 14) C 15) B 16) C
17) C 18) B 19) A 20) C
21) A 22) A 23) C 24) A

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 7
Geometry Name

Assignment Date Period

Solve for x. Assume that lines which appear to be tangent are tangent.

1) 2)

A) 9 B) 5
A) 1 B) 4 C) 3 D) 2
C) 9 D) 8
3) 4)
10x +2
11x 2
4
A) 0 B) 4 A) 4 B) 3
C) 2 D) 7 C) 5 D) 0
5) 6) S5x+7
8
16
A) 8 B) 12
C)o D) 10 A) 4 B) 3
C) 9 D) 7

2 gegss path-wsorlsheeh ory

math-worksheet.org



7) 8)

2x—16
5
10
X3 A) 11 B) 3
A 8 B) 11 C) 7.5 D) 12
C) 0 D) 5
9) 10)
X+ 17
2x+ 17
A) 0 B) 2 x
C) 12 D) 6 2x- 12
A) 1 B) 8
C) 12 D) 10
11) 12)
17x \
4x -4 N/
16X +2
A) 8 B) 2
2Xx+ 16
C) 0 D) 10
A) 10 B) 2
C) 5 D) 6

- gsgsgsnath-wserbsheeh.oryg

math-worksheet.org



13)

A) 10 B) 3
C) 4.5 D) 8
15)

13/

3x—5
\%

A) 8 B) 12
C) 3 D) 1
17)
X+ 4
2x -7
A) 1 B) 9
C) 2 D) 11
19)
8X+5
9X +2
A) 3 B) 8

C) 6 D) 1

2 gegss path-wsorlsheeh ory

14)
4
8
A) 11 B) 7
C) 6 D) 5
16)
2X+6
3x—4
A) 10 B) 9
C) 1 D) 4
18)
7X+3
8x -3
A) 1 B) 6
C) 7 D) 0

math-worksheet.org



20)

A) 7
C) 1

22)

N ‘

A) 5
C) 3

24)

4x + 1

A) 3
C) 1

B) 3.9
D) 9

B) 0
D) 11

B) 11
D) 10

- gsgsgsnath-wserbsheeh.oryg

21)
4x—4
2X + 14
A) 1 B) 11
C) 9 D) 0
23)
17.5 K
3Xx—-5
A) 10 B) 12
C) 9 D) 3

math-worksheet.org



Answers to Assignment (ID: 7)

1) D 2) A 3) C 4) B
5) B 6) D 7) B 8) C
9) A 10) C 11) A 12) B
13) C 14) C 15) A 16) A
17) D 18) B 19) A 20) B
21) C 22) B 23) C 24) D

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 8
Geometry Name

Assignment Date Period

Solve for x. Assume that lines which appear to be tangent are tangent.

1) 2)
7
14
15
9
A) 12 B) 4
A) 11 B) 9 C) 10.5 D) 8
C) 8 D) 7
3) 4)
X—5
31x—1
2x—-16
19.9 29x + 1
A) 1 B) 10
C) 11 D) 4 A) 0 B) 1
C) 10 D) 11
6)
4x+ 10
6x—4
A) 2 B) 6 A) 12 B) 2
C) 12 D) 9 C) 1 D) 7

2 gegss path-wsorlsheeh ory

math-worksheet.org



7)

21+ X
3x—-1
A) 0 B) 12
C) 10 D) 11
9)
Tx—1
6x+4
A) 5 B) 8
C) 7 D) 10
11)
16
10
A) 7.8 B) 8
C) 2 D) 0

2 gegss path-wsorlsheeh ory

8)
X+ 12
3x—4
A) 5 B) 8
C) 2 D) 11
10)
A) 11 B) 0
C) s D) 12
12)
5x—5
4x +3
A) 3 B) 2
C) 8 D) 12

math-worksheet.org



13) 14)

8
4
X+ 20

2X+9 A) 8 B) 10
A) 10 B) 4 C) 6 D) 11
C) 2 D) 11
15) 16)

2 +2X
3x-4 A) 6
) 6 B) 7 C) 11
C) 4 D) 10
17) 18)
6X
-1+ 7x
A) 8 B) 11
A) 4 B) 6 C) 10 D) 1
C) 0 D) 1

82T gegsus math-worksheet.ory
. math-worksheet.org



TX—=2
S5x+12
A) 3 B) 7
C) 1 D) 2
21)
5x—2 3X+2

N

A) 11
C) 2

23)

A) 12
C) 10

e

B) 5
D) 7

@
X+ 1

B) 0
D) 3

- gsgsgsnath-wserbsheeh.oryg

20)
-8 +4x
3x+1
A 12 B) 2
C) 1 D) 9
22)
8Xx+2
9x — 4
A 12 B) 0
C) 6 D) 2
24)
14x -2
13x
A) 7 B) 8
C) 12 D) 2

math-worksheet.org



Answers to Assignment (ID: 8)

1) C 2) C 3) A 4) D
5) D 6) D 7) D 8) B
9) A 10) D 11) A 12) C
13) D 14) C 15) A 16) D
17) D 18) C 19) B 20) D
21) C 22) C 23) C 24) D

2 gegss path-wsorlsheeh ory

math-worksheet.org



Geometry

Assignment

Name

ID: 9

Date Period

Solve for x. Assume that lines which appear to be tangent are tangent.

1)
8
16
A) 1 B) 8
C) 12 D) 0
3)
6.1
X+3
2X -5
A) 5 B) 8
C) 1 D) 7
5)
16x
) 17x -1
A) 8 B) 2
C) 1 D) 5

2 gegss path-wsorlsheeh ory

2)
X+2

2x -1

A) 0 B) 3

C) 10 D) 12
4)

2X +42

X+42

A) 0 B) 12

C) 8 D) 5
6)

36x—1 35x%

A) 7 B) 10

C) 1 D) 11

math-worksheet.org



7)

A) 1
C) 0

9

A) 8
C) 2

11)

A) 3
C) 5

1 B) 1
D) 5

B) 9
D) 6

X+ 33

2Xx + 33

B) 2
D) 0

- gsgsgsnath-wserbsheeh.oryg

8)
9
5
A) 6 B) 5.6
C) 12 D) 7
10)
2x + 18
‘4X4
A) 8 B) 10
C) 3 D) 11
12)
A) 2 B) 11
C) 8 D) 9

math-worksheet.org



13) 14)

4+ X
— A) 3 B) 7.5
C) 1 D) 5
A) 6 B) 5
C) 11 D) 0
15) 16)

4x+4
(‘ % N
3x+9
-2 +2X

A 6 8) 12 A) 1 B) S
C) 11 D) 5 4 P
17) 18)

A) 1 B) 10
A 2 B) 3 C) 3 D) 4
C) s D) 9

82T gegsus math-worksheet.ory
. math-worksheet.org



19)

13x—1
12x
A)], B)lO
C) 6 D) 8
21)
3x-2
X+ 12
A) 8 B) 12
C) 7 D) 4
23)

A) 0 B) 3
C) 11 D) 12

827 gegsvs math-visrksheeh.ory

20)
8Xi]‘ii!!lir
TX+6
A) 2 B) 4
C) 7 D) 0
22)
3x+15
4X + 6
A) 12 B) 9
C) 8 D) 3
24)

A) 0 B) 6
C) 10 D) 2

math-worksheet.org



Answers to Assignment (ID: 9)

1) C 2) B 3) B 4 A
5) C 6) C 7) A 8) B
9) D 10) D 11) D 12) C
13) A 14) B 15) D 16) D
17) D 18) A 19) A 20) B
21) C 22) B 23) B 24) C

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 10
Geometry Name

Assignment Date Period

Solve for x. Assume that lines which appear to be tangent are tangent.

1) 2)
15
9
7
14
A) 10.5 B) 2
O 1 D) 5
A) 8 B) 10
C) 1 D) 7
3) 4)
4
8
2
2x— 19 x—8
A) 5 B) 3
C) 6 D) 12 A) 6 B) 11
C) 5 D) 0
5) 6)
2x -5 Tx—1
X+5
5x+7
A) 0 B) 10
A) 2 B) 8 C) 2 D) 4
C) 7 D) 10

2 gegss path-wsorlsheeh ory

math-worksheet.org



7) 8)

Tx—17
X=3
5x+7

A) 7 B) 4 2x—-10
C) 10 D) 6 A) 4 B) 7
C) 8 D) 12
9) 4x 10)
3x+4

8x+4
9x
A) 8 B) 11
4 D)9 A9 B4
C) 1 D) 2
1) 12)

N

\ - A) 4 B) 9
C) 11 D) 10

A) 4 B) 11
C) 12 D) 6

82T gegsus math-worksheet.ory
. math-worksheet.org



13)

A) 12 B) 9
C) 0 D) 3
15)
2x+ 11
4x -5
A) 2 B) 10
C) 7 D) 8
17)

A) 9 B) 4
C) 10 D) 7

827 gegsvs math-visrksheeh.ory

14)

4X +2

l‘l 3x+12

&7

A) 10 B) 4
C) 3 D) 38
16)
4x+5
5x-3
A) 8 B) 2
C) 6 D) 1
18)

A) 4 B) 9
C) 3 D) 7

math-worksheet.org



19) 20)

2x+17
6x -3
3x+2
5x+1
A) 3 B) 8 A) 4 B) 5
C) 4 D) 10 C) 10 D) 9
21) 22)
x+2 3x-4
2x + 27 X+ 18
A) 9 B) 0
C) 2 D) 5 A) 8 B) 11
o) 1 D) 6
23) 24)
6
3x+9
12
24.8 19 +2x
A) 9 B) 12
C) 10 D) 11 A) 1 B) 6
C) s D) 9
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Answers to Assignment (ID: 10)

1) A 2) A 3) C 4) B
5) D 6) D 7) A 8) B
9) C 10) B 11) D 12) D
13) A 14) A 15) D 16) A
17) B 18) A 19) C 20) B
21) B 22) B 23) C 24) D
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